TABULATION SHEET BID NO. 2009-094-4445 - Annual Contract for Liquid Waste and Grease/Sand Traps Treatment, Collection and Disposal		VENDOR # Liquid Env Solutions	†1 vironmental			VENDOR #2 Delmar Disp				VENDOR PSC Reco	#3 very Systems , LLC		
Services  OPENING DATE: 20-Jul-09		11301 New Dallas, Tx Peter Cran 469.461.6 469.461.6	75229 e 000			Po Box 1713 Dallas, Tx 7 Delmar Han 214.391.110 214.391.713	5217 n 09			2131 Prog Dallas, Tx Herman C 214.637.5 214.637.5	Cryer 5575		
DESCRIPTION:													
NCTRCA Certified Vendor (M/Wbe)		No				No				No			
Dallas County Taxpayer?		No				Yes				No			
How were you notified?		Letter from	n DC			Letter from I website	DC and DC			Onvia			
Addendum Returned		Yes				No				Yes			
1. George L. Allen Sr. Courts Building - 600 Commerce Street, Dallas, Texas - Note: This location has limited public access and access to the trap(s) in this area is through the parking garage. The parking garage has 9' feet clearance only.  Type: Trap - Grease - 3,000 Gallons	Frequency of Service/Year												
Cost of Services Normal Business Hours	4	\$	2,000.00	\$	8,000.00	\$	1,200.00	\$ 4.80	00 00	\$	1,004.00	\$ 4	1,016.00
(7:30 am - 5:00 pm, Monday-Friday)	·	*	2,000.00	*	0,000.00	4	1,200.00	Ψ 1,00		*	1,00 1.00	~	.,010.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	2,500.00	\$	2,500.00	\$	1,500.00	\$ 1,50	00.00	\$	1,264.00	\$ 1	1,264.00
2. Lew Sterrett Justice Center, 111 Industrial Blvd, Dallas, Texas													
Type: Jail Trap - Kitchen - 1,000 Gallons													
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	4	\$	190.00	\$	760.00	\$	400.00	\$ 1,60	00.00	\$	248.00	\$	992.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	290.00	\$	290.00	\$	500.00	\$ 50	00.00	\$	551.00	\$	551.00
3. Youth Village, 1508 Langdon Rd, Hutchins, Texas													
Type: Trap (2) - Grease - 750 Gallons (Price should based on servicing two each time)													
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	2	\$	200.00	\$	400.00	\$	350.00	\$ 70	00.00	\$	208.00	\$	416.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	400.00	\$	400.00	\$	350.00	\$ 35	50.00	\$	510.00	\$	510.00

VENDOR #3

VENDOR #1

TABULATION SHEET

for Liquid Waste and Grease/Sand Traps Treatment, Collection and Disposal Services		Solutions	птепца		Delmar Disposai	Co.		PSC Recovery System	ems, llc
OPENING DATE: 20-Jul-09		11301 Newkii Dallas, Tx 75 Peter Crane 469.461.600 469.461.606	229		Po Box 171598 Dallas, Tx 75217 Delmar Ham 214.391.1109 214.391.7124 fa			2131 Progressive D Dallas, Tx 75212 Herman Cryer 214.637.5575 214.637.5542 fax	r.
DESCRIPTION:									
NCTRCA Certified Vendor (M/Wbe)		No			No			No	
Dallas County Taxpayer?		No			Yes			No	
How were you notified?		Letter from D	С		Letter from DC as website	nd DC		Onvia	
Addendum Returned		Yes			No			Yes	
	Frequency of Service/Year								
4. Frank Crowley Criminal Courts Bldg., 133 Industrial Blvd., Dallas, Texas									
Type: Trap - Cafeteria - Grease - 1,000 Gallons									
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	4	\$	190.00	\$ 760.00	\$	400.00	\$ 1,600.00	\$	248.00 \$ 992.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	290.00	\$ 290.00	\$	500.00	\$ 500.00	\$	551.00 \$ 551.00
5. Automotive Service Center, 738 Fort Worth Ave., Dallas, Texas									
Type: Trap - Sand - 1,000 Gallons									
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	4	\$	450.00	\$ 1,800.00	\$	400.00	\$ 1,600.00	\$	356.00 \$ 1,424.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	500.00	\$ 500.00	\$	500.00	\$ 500.00	\$	615.00 \$ 615.00
6. Drug Rehabilitation Center, 200 Green Rd., Wilmer, Texas									
Type: Trap - Grease - 1,500 Gallons									
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	4	\$	285.00	\$ 1,140.00	\$	600.00	\$ 2,400.00	\$	329.00 \$ 1,316.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	385.00	\$ 385.00	\$	700.00	\$ 700.00	\$	632.00 \$ 632.00

Delmar Disposal Co.

VENDOR #1 Liquid Environmental

TABULATION SHEET

BID NO. 2009-094-4445 - Annual Contract

VENDOR #3

PSC Recovery Systems , LLC

for Liquid Waste and Grease/Sand Traps Treatment, Collection and Disposal Services		Solutions	•		Demar	Disposai Co.	PSC Recovery Sy	Too Recovery Systems , EDE			
OPENING DATE: 20-Jul-09		11301 New Dallas, Tx ' Peter Crane 469.461.60	75229 e 000			Delmar l 214.391	Tx 75217 Ham	2131 Progressive Dallas, Tx 75212 Herman Cryer 214.637.5575 214.637.5542 fa			
		105.101.00	700 Ital			211.051		211.007.001214			
DESCRIPTION:											
NCTRCA Certified Vendor (M/Wbe)		No				No		No			
Dallas County Taxpayer?		No				Yes		No			
How were you notified?		Letter from	DC			Letter fro website	om DC and DC	Onvia			
Addendum Returned		Yes				No		Yes			
7. Cook Chill Facility, 2121 French	Frequency of Service/Year										
Settlement, Dallas, Texas											
Type: Trap (2) - Grease - 5,000 Gallons											
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	4	\$	950.00	\$	3,800.00	\$	2,000.00 \$ 8,000.00	\$	1,069.00 \$ 4,276.00		
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	1,200.00	\$	1,200.00	\$	2,300.00 \$ 2,300.00	\$	1,458.00 \$ 1,458.00		
8. Decker Detention Center, 899 Stemmons Frwy, Dallas, Texas											
Type: Trap - Grease - 1,000 Gallons											
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	4	\$	190.00	\$	760.00	\$	400.00 \$ 1,600.00	\$	248.00 \$ 992.00		
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	290.00	\$	290.00	\$	500.00 \$ 500.00	\$	551.00 \$ 551.00		
9. Letot Center, 10505 Denton Dr., Dallas, Texas											
Type: Trap - Grease - 1,000 Gallons											
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	4	\$	190.00	\$	760.00	\$	400.00 \$ 1,600.00	\$	248.00 \$ 992.00		
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	290.00	\$	290.00	\$	500.00 \$ 500.00	\$	551.00 \$ 551.00		

Delmar Disposal Co.

VENDOR #1 Liquid Environmental

TABULATION SHEET

BID NO. 2009-094-4445 - Annual Contract

VENDOR #3

PSC Recovery Systems , LLC

BID NO. 2009-094-4445 - Annual Contract for Liquid Waste and Grease/Sand Traps Treatment, Collection and Disposal Services		Liquid Enviro Solutions	nmental		Delmar Disposal	Co.		PSC Recovery Syste	ems , LLC	
OPENING DATE: 20-Jul-09		11301 Newkii Dallas, Tx 75 Peter Crane 469.461.6000 469.461.6060	229 0		Po Box 171598 Dallas, Tx 75217 Delmar Ham 214.391.1109 214.391.7124 fa			2131 Progressive D Dallas, Tx 75212 Herman Cryer 214.637.5575 214.637.5542 fax	r.	
DESCRIPTION:										
NCTRCA Certified Vendor (M/Wbe)		No			No			No		
Dallas County Taxpayer?		No			Yes			No		
How were you notified?		Letter from D	С		Letter from DC a website	nd DC		Onvia		
Addendum Returned		Yes			No			Yes		
10. Road & Bridge District #1, 2311 Joe	Frequency of Service/Year									
Field St., Dallas, Texas										
Type: Trap - Sand - 1,000 Gallons										
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	1	\$	450.00	\$ 450.00	\$	400.00 \$	400.00	\$	356.00	\$ 356.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	550.00	\$ 550.00	\$	500.00 \$	500.00	\$	615.00	\$ 615.00
Type: Trap (4) - Sand - 50 Gallons (Price should be based on servicing four each time)										
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	2	\$	75.00	\$ 150.00	\$	250.00 \$	500.00	\$	108.00	\$ 216.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	175.00	\$ 175.00	\$	350.00 \$	350.00	\$	410.00	\$ 410.00
Type: Trap - Grease - 500 Gallons										
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	2	\$	275.00	\$ 550.00	\$	350.00 \$	700.00	\$	167.00	\$ 334.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	375.00	\$ 375.00	\$	450.00 \$	450.00	\$	470.00	\$ 470.00
11. Road & Bridge District #2, 715 Rowlett Road, Garland, Texas										
Type: Trap - Sand - 1,000 Gallons										
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	2	\$	450.00	\$ 900.00	\$	400.00 \$	800.00	\$	356.00	\$ 712.00

VENDOR #3

VENDOR #1

TABULATION SHEET

TABULATION SHEET BID NO. 2009-094-4445 - Annual Contract for Liquid Waste and Grease/Sand Traps Treatment, Collection and Disposal		VENDOR #1 Liquid Envii Solutions	Liquid Environmental		VENDOR #2 Delmar Disp			VENDOR #3 PSC Recovery Systems , LLC				
Services  OPENING DATE: 20-Jul-09		Dallas, Tx 7 Peter Crane 469.461.60	11301 Newkirk St. Dallas, Tx 75229 Peter Crane 469.461.6000 469.461.6065 fax			598 5217 1 1 19 24 fax		2131 Progressive Dr. Dallas, Tx 75212 Herman Cryer 214.637.5575 214.637.5542 fax				
DESCRIPTION:												
NCTRCA Certified Vendor (M/Wbe)		No			No			No				
Dallas County Taxpayer?		No			Yes			No				
How were you notified?		Letter from	DC		Letter from I website	DC and DC		Onvia				
Addendum Returned		Yes			No			Yes				
Cost of Services After Hours, Emergency, Weekend and Holidays)	Frequency of Service/Year	\$	550.00 \$	550.00	\$	500.00 \$	500.00	\$	615.00 \$	615.00		
Type: Trap - Grease - 500 Gallons												
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	1	\$	275.00 \$	275.00	\$	350.00 \$	350.00	\$	167.00 \$	167.00		
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	375.00 \$	375.00	\$	450.00 \$	450.00	\$	470.00 \$	470.00		
12. Road & Bridge District #3, 1506 E. Langdon Road, Dallas, Texas												
Type: Trap - Sand - 1,000 Gallons												
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	2	\$	450.00 \$	900.00	\$	400.00 \$	800.00	\$	356.00 \$	712.00		
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	550.00 \$	550.00	\$	500.00 \$	500.00	\$	615.00 \$	615.00		
Type: Trap - Grease - 500 Gallons												
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	1	\$	275.00 \$	275.00	\$	350.00 \$	350.00	\$	167.00 \$	167.00		
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	375.00 \$	375.00	\$	450.00 \$	450.00	\$	470.00 \$	470.00		
13. Road & Bridge District #4, 4403 E. Illinois Blvd., Dallas, Texas												

VENDOR #3

VENDOR #1

TABULATION SHEET

for Liquid Waste and Grease/Sand Traps Treatment, Collection and Disposal Services		Solutions	omicitai		Demiai Disposa	u 00.		rsc Recovery syste	ino , ido	
OPENING DATE: 20-Jul-09		11301 Newk Dallas, Tx 75 Peter Crane 469.461.600 469.461.600	5229 00		Po Box 171598 Dallas, Tx 7521 Delmar Ham 214.391.1109 214.391.7124 f	.7		2131 Progressive D Dallas, Tx 75212 Herman Cryer 214.637.5575 214.637.5542 fax	r.	
DESCRIPTION:										
NCTRCA Certified Vendor (M/Wbe)		No			No			No		
Dallas County Taxpayer?		No			Yes			No		
How were you notified?		Letter from I	DC		Letter from DC website	and DC		Onvia		
Addendum Returned		Yes			No			Yes		
Type: Trap - Sand - 150 Gallons	Frequency of Service/Year									
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	6	\$	200.00 \$	1,200.00	\$	350.00 \$ 2	2,100.00	\$	120.00 \$	720.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	300.00 \$	300.00	\$	450.00 \$	450.00	\$	422.00 \$	422.00
14. Henry Wade Juvenile Justice Center, 2600 Lone Star Dr., Dallas, Texas Type: Trap - Grease - 1,000 Gallons										
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	2	\$	190.00 \$	380.00	\$	400.00 \$	800.00	\$	248.00 \$	496.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	290.00 \$	290.00	\$	500.00 \$	500.00	\$	551.00 \$	551.00
Specify Over Charges (if any) for:										
Sand Trap (per gallon)		\$	0.45		No response			\$	0.21	
Grease Trap (per gallon)		\$	0.19		No response			\$	0.15	
Specify any additional comments/cost/etc. included with your bid proposal, if applicable:		Lift Stations included in o There are no listed on the page.	our bid. lift station		No Comments			Confined space ent will be billed at \$120 hour with a minimu hours. PSC will supequipment necessary entry.	00.00 per m of 2 oply all the	
Checklist of Items To Be Submitted w/Bid Proposal:				Page 6	of 15					

Page 6 of 15

VENDOR #2

Delmar Disposal Co.

VENDOR #3

PSC Recovery Systems , LLC

VENDOR #1

Liquid Environmental

TABULATION SHEET

BID NO. 2009-094-4445 - Annual Contract

TABULATION SHEET BID NO. 2009-094-4445 - Annual Contract for Liquid Waste and Grease/Sand Traps Treatment, Collection and Disposal Services	VENDOR #1 Liquid Environmental Solutions	VENDOR #2 Delmar Disposal Co.	VENDOR #3 PSC Recovery Systems , LLC
OPENING DATE: 20-Jul-09	11301 Newkirk St. Dallas, Tx 75229 Peter Crane 469.461.6000 469.461.6065 fax	Po Box 171598 Dallas, Tx 75217 Delmar Ham 214.391.1109 214.391.7124 fax	2131 Progressive Dr. Dallas, Tx 75212 Herman Cryer 214.637.5575 214.637.5542 fax
DESCRIPTION:			
NCTRCA Certified Vendor (M/Wbe)	No	No	No
Dallas County Taxpayer?	No	Yes	No
How were you notified?	Letter from DC	Letter from DC and DC website	Onvia
Addendum Returned	Yes	No	Yes
	Frequency of Service/Year		
Provide copies of all licensing and permit requirements:	Included	?	Included
Customer references:	Included	Included	Included
Provide years of experience the firm has been in the waste treatment, pumping, and disposal service business. Provide the years of experience of the management staff	Included	21 yrs 25 yrs.	24 yrs,
Provide the number of trucks in the service fleet	Included	12	6
List your major equipment on hand	Included	Vacuum Truck with Jetter	Hydro Jetting Truck
Please answer the questions listed below			
Is this an all or none bid?		No	
Specify the name and telephone number of the account representative who will be handling this account:	Ken Hale 469.461.6013	Delmar Ham 214.391.1109	Fernando Canales 214.637.5575 ext 226
Cooperative Purchasing: Should other Governmental Entities decide to participate in this contract, would you, the awarded Contractor agrees that all terms, conditions, specifications, and pricing would apply to that entity?	Yes. * In our direct service area	Yes	Yes
Does your firm/company have the require insurance coverage stated under SECTION 3 - INSURANCE REQUIREMENTS.	Yes - See attached copy of current insurance certficate	Yes	Yes
If No, will your firm be able to acquire the required coverage within ten (10) days upon notification of contract award?			

TABULATION SHEET BID NO. 2009-094-4445 - Annual Contract for Liquid Waste and Grease/Sand Traps Treatment, Collection and Disposal Services		VENDOR #1 Liquid Environmental Solutions	VENDOR #2 Delmar Disposal Co.	VENDOR #3 PSC Recovery Systems , LLC
OPENING DATE: 20-Jul-09		11301 Newkirk St. Dallas, Tx 75229 Peter Crane 469.461.6000 469.461.6065 fax	Po Box 171598 Dallas, Tx 75217 Delmar Ham 214.391.1109 214.391.7124 fax	2131 Progressive Dr. Dallas, Tx 75212 Herman Cryer 214.637.5575 214.637.5542 fax
DESCRIPTION:				
NCTRCA Certified Vendor (M/Wbe)		No	No	No
Dallas County Taxpayer?		No	Yes	No
How were you notified?		Letter from DC	Letter from DC and DC website	Onvia
Addendum Returned		Yes	No	Yes
	Frequency of Service/Year			
Information on Provision of Health Insurance Coverage for Employees: Dallas County may consider the provision of health insurance coverage for employees in the bid evaluation process (see page 5, paragraph 5). Please complete the information below to assist in this evaluation.				
a) Does your company provide health insurance coverage to its employees?		Yes.	Yes	Yes
b) If your company does provide health insurance coverage to its employees, does the company share in the cost a minimum of 75% for employee only coverage and 50% for family coverage?		Yes	No	Yes
c) If your company provides health insurance coverage to its employees, is the coverage comparable to the services provided by Dallas County as described in the attached summary plan description?		See attached LES insurance summary	Yes	Yes
d) If your company plans to utilize subcontractors in the fulfillment of this bid, does each of the subcontractors provide health insurance coverage to their employees that compares to Dallas County's health insurance coverage and share in the cost?		No	Yes	No Comments

TABULATION SHEET BID NO. 2009-094-4445 - Annual Contract for Liquid Waste and Grease/Sand Traps Treatment, Collection and Disposal Services		VENDOR #4 South Waste LLC 525 South 6th		
OPENING DATE: 20-Jul-09		Mansfield, Tx Tim Cox 972.406.1215 972.406.2877		
DESCRIPTION:				
NCTRCA Certified Vendor (M/Wbe)		No		
Dallas County Taxpayer?		No		
How were you notified? Addendum Returned		Dallas County Yes	website	
1. George L. Allen Sr. Courts Building - 600 Commerce Street, Dallas, Texas - Note: This location has limited public access and access to the trap(s) in this area is through the parking garage. The parking garage has 9' feet clearance only.	Frequency of Service/Year			
Type: Trap - Grease - 3,000 Gallons				
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	4	\$	534.00	\$ 2,136.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	600.00	\$ 600.00
2. Lew Sterrett Justice Center, 111 Industrial Blvd, Dallas, Texas				
Type: Jail Trap - Kitchen - 1,000 Gallons				
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	4	\$	175.00	\$ 700.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	200.00	\$ 200.00
3. Youth Village, 1508 Langdon Rd, Hutchins, Texas				
Type: Trap (2) - Grease - 750 Gallons (Price should based on servicing two each time)				
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	2	\$	285.00	\$ 570.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	300.00	\$ 300.00
4. Frank Crowley Criminal Courts Bldg., 133 Industrial Blvd., Dallas, Texas				

Type: Trap - Cafeteria - Grease - 1,000

Gallons

TABULATION SHEET BID NO. 2009-094-4445 - Annual Contract for Liquid Waste and Grease/Sand Traps Treatment, Collection and Disposal Services  OPENING DATE: 20-Jul-09		VENDOR #4 South Waste LLC 525 South 6tl Mansfield, Tx Tim Cox 972.406.1215 972.406.2877	h Ave. 76063	
DESCRIPTION:				
NCTRCA Certified Vendor (M/Wbe)		No		
Dallas County Taxpayer?		No		
How were you notified? Addendum Returned		Dallas County Yes	y website	
	Frequency of			
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	Service/Year 4	\$	175.00	\$ 700.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	200.00	\$ 200.00
5. Automotive Service Center, 738 Fort Worth Ave., Dallas, Texas Type: Trap - Sand - 1,000 Gallons				
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	4	\$	450.00	\$ 1,800.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	500.00	\$ 500.00
6. Drug Rehabilitation Center, 200 Green Rd., Wilmer, Texas				
Type: Trap - Grease - 1,500 Gallons				
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	4	\$	262.50	\$ 1,050.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	300.00	\$ 300.00
7. Cook Chill Facility, 2121 French Settlement, Dallas, Texas				
Type: Trap (2) - Grease - 5,000 Gallons				
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	4	\$	1,750.00	\$ 7,000.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	2,000.00	\$ 2,000.00

TABULATION SHEET BID NO. 2009-094-4445 - Annual Contract for Liquid Waste and Grease/Sand Traps Treatment, Collection and Disposal Services  OPENING DATE: 20-Jul-09  DESCRIPTION:  NCTRCA Certified Vendor (M/Wbe)		VENDOR #4 South Waste LLC  525 South 6th Mansfield, Tx Tim Cox 972.406.1215 972.406.2877	1 Ave. 76063	
Dallas County Taxpayer?  How were you notified?		No Dallas County	website	
Addendum Returned  8. Decker Detention Center, 899 Stemmons Frwy, Dallas, Texas  Type: Trap - Grease - 1,000 Gallons	Frequency of Service/Year	Yes	, we state	
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	4	\$	175.00	\$ 700.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	200.00	\$ 200.00
9. Letot Center, 10505 Denton Dr., Dallas, Texas Type: Trap - Grease - 1,000 Gallons				
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	4	\$	175.00	\$ 700.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	200.00	\$ 200.00
10. Road & Bridge District #1, 2311 Joe Field St., Dallas, Texas Type: Trap - Sand - 1,000 Gallons				
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	1	\$	450.00	\$ 450.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	500.00	\$ 500.00
Type: Trap (4) - Sand - 50 Gallons (Price should be based on servicing four each time)				
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	2	\$	318.00	\$ 636.00

TABULATION SHEET BID NO. 2009-094-4445 - Annual Contract for Liquid Waste and Grease/Sand Traps Treatment, Collection and Disposal Services  OPENING DATE: 20-Jul-09		VENDOR #4 South Waste I LLC 525 South 6th Mansfield, Tx 7 Tim Cox 972.406.1215 972.406.2877	Ave. 76063	
DESCRIPTION:				
NCTRCA Certified Vendor (M/Wbe)		No		
Dallas County Taxpayer?		No		
How were you notified? Addendum Returned		Dallas County Yes	website	
	Frequency of			
Cost of Services After Hours, Emergency, Weekend and Holidays)	Service/Year	\$	337.00	\$ 337.00
Type: Trap - Grease - 500 Gallons				
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	2	\$	135.00	\$ 270.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	175.00	\$ 175.00
11. Road & Bridge District #2, 715 Rowlett Road, Garland, Texas				
Type: Trap - Sand - 1,000 Gallons				
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	2	\$	450.00	\$ 900.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	500.00	\$ 500.00
Type: Trap - Grease - 500 Gallons				
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	1	\$	135.00	\$ 135.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	175.00	\$ 175.00
12. Road & Bridge District #3, 1506 E. Langdon Road, Dallas, Texas Type: Trap - Sand - 1,000 Gallons				
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	2	\$	450.00	\$ 900.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	500.00	\$ 500.00

TABULATION SHEET BID NO. 2009-094-4445 - Annual Contract for Liquid Waste and Grease/Sand Traps Treatment, Collection and Disposal Services  OPENING DATE: 20-Jul-09	VENDOR #4 South Waste Disposal LLC  525 South 6th Ave. Mansfield, Tx 76063 Tim Cox 972.406.1215 972.406.2877 fax				
DESCRIPTION:					
NCTRCA Certified Vendor (M/Wbe)		No			
Dallas County Taxpayer?		No			
How were you notified? Addendum Returned		Dallas County website Yes			
Type: Trap - Grease - 500 Gallons	Frequency of Service/Year				
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	1	\$	135.00	\$	135.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	175.00	\$	175.00
13. Road & Bridge District #4, 4403 E. Illinois Blvd., Dallas, Texas Type: Trap - Sand - 150 Gallons					
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	6	\$	199.50	\$	1,197.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	210.00	\$	210.00
14. Henry Wade Juvenile Justice Center, 2600 Lone Star Dr., Dallas, Texas Type: Trap - Grease - 1,000 Gallons					
Cost of Services Normal Business Hours (7:30 am - 5:00 pm, Monday-Friday)	2	\$	175.00	\$	350.00
Cost of Services After Hours, Emergency, Weekend and Holidays)		\$	200.00	\$	200.00
Specify Over Charges (if any) for:					
Sand Trap (per gallon)		\$	0.45		
Grease Trap (per gallon)		\$	0.18		

TABULATION SHEET BID NO. 2009-094-4445 - Annual Contract for Liquid Waste and Grease/Sand Traps Treatment, Collection and Disposal Services VENDOR #4 South Waste Disposal LLC

525 South 6th Ave. Mansfield, Tx 76063 Tim Cox 972.406.1215 972.406.2877 fax

OPENING DATE: 20-Jul-09

DESCRIPTION:

NCTRCA Certified Vendor (M/Wbe)

Dallas County Taxpayer?

How were you notified? Addendum Returned

> Frequency of Service/Year

Specify any additional comments/cost/etc. included with your bid proposal, if applicable:

Checklist of Items To Be Submitted w/Bid Proposal:

Provide copies of all licensing and permit requirements:

Customer references:

Provide years of experience the firm has been in the waste treatment, pumping, and disposal service business. Provide the years of experience of the management staff

Provide the number of trucks in the service fleet

List your major equipment on hand

Is this an all or none bid?

Please answer the questions listed below

Specify the name and telephone number of the account representative who will be handling this account:

**Cooperative Purchasing:** Should other Governmental Entities decide to participate in this contract, would you, the awarded Contractor agrees that all terms, conditions, specifications, and pricing would apply to that entity?

Does your firm/company have the require insurance coverage stated under SECTION 3 INSURANCE REQUIREMENTS.

If No, will your firm be able to acquire the required coverage within ten (10) days upon notification of contract award?

No

No

Dallas County website

Yes

No Comments

Enclosed

Complete

25 yrs. In the business and management staff

6

6 trucks

Yes

Richard Hernandez 682.667.7595,

rhernandez@southwaste.

com Yes

Yes

TABULATION SHEET BID NO. 2009-094-4445 - Annual Contract for Liquid Waste and Grease/Sand Traps Treatment, Collection and Disposal Services VENDOR #4 South Waste Disposal

525 South 6th Ave. Mansfield, Tx 76063 Tim Cox 972.406.1215 972.406.2877 fax

OPENING DATE: 20-Jul-09

DESCRIPTION:

NCTRCA Certified Vendor (M/Wbe)

Dallas County Taxpayer?

How were you notified? Addendum Returned No No

Dallas County website

Yes

Frequency of Service/Year

Information on Provision of Health
Insurance Coverage for Employees: Dallas
County may consider the provision of
health insurance coverage for employees
in the bid evaluation process (see page 5,
paragraph 5). Please complete the
information below to assist in this
evaluation.

- a) Does your company provide health insurance coverage to its employees?
- b) If your company does provide health insurance coverage to its employees, does the company share in the cost a minimum of 75% for employee only coverage and 50% for family coverage?
- c) If your company provides health insurance coverage to its employees, is the coverage comparable to the services provided by Dallas County as described in the attached summary plan description?
- d) If your company plans to utilize subcontractors in the fulfillment of this bid, does each of the subcontractors provide health insurance coverage to their employees that compares to Dallas County's health insurance coverage and share in the cost?

Yes.

Yes

Yes

Yes

